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State distnbutlve iaws for three sets A, B, C and vertfy them by taklng [os]

A={1,2,5,6,8,B={2,4,6,10,11hC={1,2,3,5,6,11,12).
Write the rules of determinant. -

Solve the following equations by Cramers rule.
2(x-1) + 3(y+1) = 15

o 2{yH3) = 2(x-2) =

OR | o
If A={5, 6,7}, B={7, 8 and C = {5, 8} then verify that A X (B-C)= (AXB) - (AXC)

Define the terms :
(1) Subset (2) Un;on and mtersectlon of two sets (3) Null Set

Solve the followmg equatlons by Cramer’s rules.

Xy x Jf
Solve the following equations by inverse mamx S ’
IX-2y+z=2, '
X+3y-2z2=2"
2X-ytz=2 -
Define the terms : -

(1) Square matrix (2) Transpose of a matrix (3) Identity matrix (4) Row matrix

12 2 _

f4 = |1 2.2 t_hen;finqﬁz—_-A:fr_l -

' 12 2 ':_1 ' '

OR

: '—35 ' {4 5

f4 = and B = then verify s

',(1) (A+B) = AB" (2) (AB)' =B'AT

I 2 3
f4 = | 1 2 3|thenprovethatA’=0
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Define Annuity with it's formula which you study.

 Estimate the percentage of _cr'iﬁ"'ii'héls'bf age less than 35..l_.léihg the following data.

12 3 S er3y o 102

A=|-12 0/, B=20 3|andC =012
r4-2f s4-1]  |120]
“thenfind -

()2A+C (2)A—B+3C;(3)A.+B+C

If the rate of interest is 12% what sum should Kanisha deposit in her recurring
account in bank in the beginning of every year so that her 5 years old son can
receive Rs. 1,50,000 when he is 25 years old? : o

Define the terms.
- (1) Simple Interest - (2) Compound interest .
- (3) Effective rate of interest {4) Sinking Fund

What is an aggregate amount of Rs. 16,000 at 9% rate of compound interest for 8
years if the interest is compounded

(1) Once in a year

 (2) Twiceinayear

OR

A person has o pa'y' 10 ins'ia'limeht each 6f Rs 18,000 at the end of every year for
-a loan. if the rate of compound interest is 10% per annum. Find the amount of the |

foan.

The population of a city at present is 75162 which was 65673 before 5 years. Find

out the rate of growth of population,

'Write the ass"umpt'ibns and uses of interpolation and extra;:iolation .

From the following data, interpolate the value of 26,

X 20 25 30 35 40
Y. | 23 | 2 30 35 42
| OR
~ ‘Estimate the pdpulation in the year 1985 by using the following data,
' Year 1965 1970 1975 1980
Population 12 14 18 24

in Thousand

Age 25 30 |- 40 | sp
Percentage 52.0 67.3 841 94.4
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